

$$1\frac{3}{6} : 2\frac{4}{6} =$$

$$\frac{40}{100} : \frac{1}{1} =$$

$$\frac{9}{4} - \frac{9}{11} =$$

$$2\frac{1}{7} \times 3\frac{1}{3} =$$

$$11\frac{3}{6} + 2\frac{1}{5} =$$

$$7 \times \frac{7}{11} =$$

$$\frac{2}{10} + \frac{3}{10} =$$

$$5\frac{4}{11} - 4\frac{3}{9} =$$



$$1\frac{3}{6} : 2\frac{4}{6} = \frac{9}{6} : \frac{16}{6} = \frac{9}{\cancel{6}} \times \frac{\cancel{6}}{16} = \frac{9}{16}$$

$$\frac{40}{100} : \frac{1}{1} = \frac{\cancel{40}}{\cancel{100}^5} \times \frac{1}{1} = \frac{2}{5}$$

$$\frac{9}{4} - \frac{9}{11} = \frac{99}{44} - \frac{36}{44} = \frac{63}{44} = 1\frac{19}{44}$$

$$2\frac{1}{7} \times 3\frac{1}{3} = \frac{\cancel{15}}{7} \times \frac{10}{\cancel{3}} = \frac{50}{7} = 7\frac{1}{7}$$

$$11\frac{3}{6} + 2\frac{1}{5} = 11\frac{15}{30} + 2\frac{6}{30} = 13\frac{21}{30} = 13\frac{7}{10}$$

$$7 \times \frac{7}{11} = \frac{49}{11} = 4\frac{5}{11}$$

$$\frac{2}{10} + \frac{3}{10} = \frac{5}{10} = \frac{1}{2}$$

$$5\frac{4}{11} - 4\frac{3}{9} = 5\frac{36}{99} - 4\frac{33}{99} = 1\frac{3}{99} = 1\frac{1}{33}$$

